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Answer any one of the following questions in about 40 to 60 words

(a) O UR %ai2 UAA dAR9loll (Ar&UUA-RA(A AU Foll WA HALAA WLE[AHL 0.15 Ul cAcAletallmi wlce] B.
2L 5 (L-18)

(i) dR9le] SUat(ArcllR

(i) ARoL AGLES

(jii) A29Le{l vt et
(iv) lR9tell AL

(a) Inthe diagram shown alongside the displacement- position graph of a wave generated at O is shown after 0.1s.
Calculate: (L-18)

(i) Amplitude of the wave
(ii) Wave length

(iii) Frequency of the wave
(iv) Velocity of the wave



(b)ctR (A Yot Ylastx Aoctal 12 [AQu A ylAsiul sLeS ASL Ol dMal €35 3 alell QL
ylAst Uil vl 8. AHetl (A A0l oldiaal 12 2UslA €11, GURid, 35 A Satall
UHset yldstedl ol 52

You can join resistances in different ways to obtain resistances of different values. You are given three
resistances of 3 ohm each. Draw diagrams to show their different combinations.Also, calculate the equivalent
resistance of each combination.

2.o{lActtHill SlEURL WS Ystoll oLl 40 YUl 60 AGELHL cllod AW

Answer any one of the following questions in about 40 to 60 words.

(a)-400C UR 100g R $al 1000C UR clRLOHL 3W ARt sl 112 %331 ol Hlo{l Histle{l oLt 52

(L-14)
UAA: o1 el (AsaLell Yud oMl =335 /g

wRletl ottvdletctato{l stcflotdn o1 Hl = 2260 J/g

ol $o(l (A2 21231 &ML = 2.1 J/gx0C

wellel (@2 ol &tHcll = 4.2 J/g xc)

Calculate the amount of heat required to convert 100g of ice at — 400C into steam at 1000C

(L-14)

Given: Latent heat of fusion of ice =335 J/g
Latest heat of vaporization of water = 2260 J/g
Specific heat capacity of ice = 2.1 J/gx0C
Specific heat capacity of water = 4.2 J/gxc)

(b)SLELoset Ul AEA 1:8 o1l RN ML UHE SR WLl tlolld 8. 3 UM slBeret clly U Ayl A
YA sc 1R BEASet Aol sl AMgoll %32 UsA?

Hydrogen and oxygen combine in the ratio of 1: 8 by mass to form water. What mass of oxygen gas would be
required to react completely with 3 g of hydrogen gas ?

3.o{lActtHill SlEURL Yslloll AILRLOL 40-60 ACGELHL wellol AL,

Answer anyone of the following questions in about 40-60 words.

(a)dlsell slue{l Auctaloll vusld 1R detruld s1n Al Yl Sl cdetl SIESURL ARL dSlcldoll GeAn
3. (U16-21)

Draw a labelled Diagram of a plant cell. Mention any three differences between a plant cell and an animal cell.
(Lesson- 21)

(b)5120L6{ AWo2a] ol AW WA RAR 2Lt YRRl Ictof cldlot 5. 2L A2tetl el g 8?2 RARULsU
Sclellal R sall HIZell SIEURL UR (Aatrs watcisfl augl 2. (U16-32)



Name the causative agent and describe the mode of transmission of Malaria. What are the symptoms of this
disease? List any four preventive measures for controlling spread of Malaria. (Lesson 32)

4.9 100 &l 150 2AGELHL ol Aot MLl SLESURL Vs Ystoll oscllod AW,

Answer any one of the following questions in about 100 to 150 words.

(a)HUsll (A[AY &8l UR gl 2Rl RAA oA 20yA2 B:

The position of a moving body at various instants of time is tabulated below:

Ts) |o 5 10 15 20 25 30 35 90 95 50

X(m |5 10 15 25 35 50 60 65 70 73 75
A 12 RALA-AHAA AL E1RL, A sl Usle(l oA e2ld 82 duuleHs st Aoll 3 (AN [AAMARA
UL oUAe] cdlet 5.

Draw a position-time graph for the motion. What type of motion does it depict? Describe the motion giving its 3
special features in numerical terms.

(b)ollA 25(A 2@ s ylAlsau £20A B. s1YYCls WA S0l 5 B ol Aoilall Acllol UMW
(i) AUARS YlAB2Letl YUsRA ML W AR caAlvARLA 52\, Hlslell 201 3l A slecud?

(i) @ uldlsa a8 Aqd AA2AB s UH50L AW

The following diagram displays a chemical reaction. Observe carefully and answer the following questions

(i) Identify the type of chemical reaction that will take place and define it. How will the colour of the salt
change?

(i) (i) Write the chemical equation of the reaction that takes place.

YUYW AL UR AEsR WS Al ol Aol a4 sl ABL LA olcllcaut YHIB), Aotl UR A s 232 2Yuial
Glell 531 [AsRA At AsA 52



Pratyush took sulphur powder on a spatula and heated it. He collected the gas evolved by inverting a test tube
over it, as shown in the figure.

5.c01eL0L 100 &l 150 2L0ENHL ol Aot SLETULL WS Y sloll ellod AL

Answer any one of the following questions in about 100 to 150 words.

(a) (i) Actw Ao (i) (@YW Ao glRL 8N $1Ged 2ot €2llctcll (5L Ruis(Al €1, | vlloBse SlsU U
AR 5A Ao2 ARA YsallHl A dl. €35 (Bl Rl wolloll clai@s izl aglst 5.

Draw ray diagrams showing image foundation by (i) a concave lens (ii) convex lens, in case the object is placed
between focus and optical centre. Describe the characteristics of the image formed in each case.
(b) o{lA 32clts YLRlloll ottH AU HL vl B, €35 eallaldl AL YRlRAA Al

AMisll 3801l adl/cldlo] ol UL AW (UL6-19)
(U5, AGS A, U, Bell (9, 2u A, 2(59))
(i) Ad&AA AHYHLLAL

(i) ellotstell s1aq 23R

(jii) @ coto(l UAU L .

(b) Given below are the names of some animals. Identify two animals each showing
Also Name the phylum/class of each of them; (Lesson -19)

(Shark, round worm, Snake, jelly fish, tape worm, starfish)

(i) Radial symmetry
(ii) Body covered with scales
(iii)Parasitic mode of life.

6. o(lA AU SlSURLAS WFse dUR 53

Prepare any one Project given below:

(a)ollAotl Y oll o clled AW

A5 UL YarlsR 313 Gell 531 UR-UR IR Al el Al o{lRU Aetlotl uRRU{l AHs Ul clelals]
Aol AR, A [ ouU HEAIRA Aol Aoiloll olotS|2all A2 LA B AQ

AlssH A eJAotHl goid. ool otcll Bl Anscll el UGL Aof cloret AsEH UL UL 23] &, B urcRY
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a) Aloiloll £L0letl WAlE l drad dAHR 585 ActAA AvLll A\e5A?

b) UL HI2 U812 Sl HULE A3 WIEclloll AU AW B?

2) ste As olellr uHRU V. €2 a WAl Mol WA WA ®
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3) Gt AU Uld B B Ycllsl AcRUHL ol HA 8. arlleul Aol Mateudl GuAoL a8
AlUHLet MWL URd WRL HOL % WlRells tUlg B 5103 Aol tatcll ull auR 8.

0t 916 YRl Altollal Fetndl aud dA 585 A A AW?

Answer the following:

A man went door-to door posing as a goldsmith. He promised to bring back the glitter of old and dull gold
ornaments. An unsuspecting lady gave a set of gold bangles to him which he dipped in a particular solution. The
bangles sparkled like new but their weight was reduced drastically. The lady was upset but after a futile argument
the man beat a hasty repeat. Can you play the detective to find out the nature of the solution he has used?

1) Gold is a very precious metal. Pure gold is very soft it is therefore not suitable for making jewellery. It is alloyed
with either Silver or Copper to make it hard. But sometimes jewelers mix a large quantity of copper and silver in gold
to earn more profit.

a) What precautions should you take while purchasing gold jewellery?
b) Why does Government insist on purchasing Hall Marked jewellery?

2) Corrosion is a serious problem. Every year an enormous amount of money is spend to replace damaged iron.
What steps can be taken to prevent this damage.

3) Mercury is the only metal found in the liquid state. It is largely used in thermometers to measure the
temperature. But mercury is a very dangerous metal as its density is very high. What two precautions you would
take while handling the equipments containing Mercury ?

(b) €35 12 UR 50 c®lis, 100 cAis, 250 clais U 21l 6l8l1R sldlal BoRYARS SlUR cllURell
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2. oll UG AES UR SlU-As2Aotoll [AcllR cltiRellell AR Y B SASANWR?

3. 8AsANA 2l MO AL UR AU g wl2Uol SlRell GUIL sl el 9 AUUR AU B?
4. [Qgddusell distd UR ccdiol autcloll AR 9 B?

5. 9 LSt UM ULl ot Yo s ololl 2 B2

Make two cylindrical card board formers of diameter 1 inch and 2 inch and length 6inch closely wound coils
using insulated copper wire taking out of tapping’s after 50 turns, 100 turns, 250 turns on each format. Now
place a magnate needle at appropriate distance.

Take first coil. Connect its 50 turns across a battery and note the deflection of magnetic needle.
Repeat observations with 100 turns, 200 turns etc.

Make similar observations using the second coil.

Now insert 6 inch long iron nails inside the coil and repeat the experiment. Now answer the
following questions:

1. What is the effect of increasing number of turns on the strength of the electromagnet ?

2. What is the effect of increasing the area of cross-section on the strength of the
Electromagnet ?

3. What is the effect of using soft iron core on the strength of the electromagnet ?

4. What is the effect of increasingly current on the strength of electromagnet ?

5. Do the nails become magnet after some time ?



